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��� ��� ��������� �� �� ��� �������� ��� ��!����������� ��������� ������ "������� ����

#�������� �����������$� ��� ���� ���� ���� !���������%����� �&�##����%����� ���

��������!������������������������'��������������
�������$����"��������##����������

��� #�����  ������ ���������� �� �����!��� ����&���� ���� ������������ ��� �!��� �� �����

��!���%%��� �� #��� ��� ��!!���!������� ������ "�������� ����� (���� ������ ������)��

�����%������� �*�#������ ������������� +� �*����#�����%�� ������ ����� �%����$� ��

���������%����$������������������%����������$�"�����������%���������+��������������

������������������#��������������!!���������"�������������#�������$������������������

���������� ��� #�����%�� ��� ����� ���������$� ����������� ���������� ���� #��#���������

�������(�����,�������!���%����!��������������$����������������������� ��������������

����� ��� ���(������ #��������� ��� !����� ��� ���������� �� #�������� ��������������� -���

"�������##�����$������)�����+��� ������������������$�+������������� �����������������

�����������������������%������������!���������������� ������ ���#�����$� ���� ��"�����

����� �������#�����%����������������%��������������� ��������##����������������

��������������������������*������������������(����"�������������$�+��)���������������

#��������$� �)�������� ���� �� ����$� ������ ��� #�.�  ������#����(���� ���  ����  ������ ����

#����������/  ��������"�����������%�����#����������� ������!������������������$�

����������!���%��"������������������������##����%��������"������$������������������

����������� 0������ �*�(����� �� ��� "������ �� ���� +� "������ ��� #��#����� ����������

��������� ���)����������������������������!������������������������� �*��������������
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�����%����� #��� ��� ������%����� ��� ������ ��� ����������� �*����� ��� ������ "������ ���

����������������������������������12���3*0
������	��1�+��$/������%��$��%��	$�4�

(������������������#���������������������$����#�����%������������%%������������������

������ ��(���� �##������ �� �&� ������ ����������� �)�� �� ������ ���� ���������� �����

��������� ��!��� ������$� ��#��!���� #��� ��� ������ ���� #��������� ��� ��������

������!����� ��3��4��������������������!����� ������������(����3����4$�#�������

������������#��������
��������������#�����"�������� �����������������&�����%%�������

��� � �������� �����%����� ��!��� ���������$� #����� #������� �� ������������ ��!������

���)������������������##����%���������������������"��������5�����#������6���������

�����������������#����*�����������������������#�����$������������� ��������������������

#�� ��������5�����#���������������� ����������� ��������� ������������������� �������

��������������'�������������0�������3'
�4�������"�����$�������������##���������$����

������ ��� ���������� 12��� �� ��� ����� #��#������� ��� ��!����� ���� ��#������ 7� �����

#����������*��!������%�����������#��#��������!�������������������!����� ���������

�� �������� #��#����� ���������� ��������� �� #��� ��� �����%����� ������ �������������

������� ���� ��#������8�  �������� �����%%���� �� ��������� �� ���������� ������ ������%�����

� ����$� ������ "����� !��� ���������� �����%������� ���� #��������� ������!����� �� �����

����������������������������"������#��#����������#������#�����������
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������������� ��!�����##����������������)���������%������)�����#��!�������(�!�!����

��� ���� ����������� #������� ������� ��� ���� ��#�	� �����2�������$� ���� ����� ��� ���� ���

����� �%���������������#������������������� ����� ���� ������� ����$��##����������

������)�$� "������ ��9� �)�� �((����� ����� ����� �%����$� ��� ���� �� #�.� !�����%%�$�

#����������������#�6��5���#���������$�#�������#��$�#������������������������5�

����� ����� ���� ����� ���� ������ #����(���� �����%%�%����� ��� 5�  ����(���� ��������

����#������������������)������+���*�#���������##�����������(�����'������ ��#������

�����������5����� ����$������*+���!��������#��������)�	�

6� ����������������)�������)������*�:���������� ��������������"����)�������

�����������"��������!������������� �����3����#�����%�4;�

�� ��� ����%����� ���� #���� �� ����%%�� �)��  ���� #��� �*�:������ ���� ����� ����

�� ��������"�������)�� ����#���������!���������3����������4��

���"����������$������� ��������������������������%%�%������������ ����(������������

������������������*�:����������� �%����$����*�##�������������%������##��#������+�

�!�������"��������������$���������*����#�����%�����*���������������������������������

�)��

6
6

3 $ $ 4 3 4
3

3 �
�

� 0 0 � 0
=

… = ∏ �

���������������������������������������� �������������������
6� ���������� �����$��������������������+��������������������������#����$������������������#�����"����
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���+� �)�� ��� ���%����� ��� �������� ���� ������� ���#����� +� ���#���������� ���

#��������������������%�������������������������!��������� �%�����3���"��������%�����

����� ������ �!����4�� 5������ �)�� "������ ��#�� ��� ��!���������� +� #�������������

�##��#��������������!!����#���������������������������������������� ����#�� ��!����

��������#��������������������$�������#�����"�������)���������������������(����!������

��������������������#�����$������ ��$�#��������������������%�����������������(����

�)�� ���)����� ���� ����������� ���� ��������� #��(�(��������� ��� �����%%����� 0������

��������%�� ��������� ���� ������ �)�� ��� ���#�� )�� ���� ����%����$� �� "������ ������� ���

�������� ��� ��� ��������� ��� ������ ������)�$� �������$� ��� ��������� ������%�� ��� ������

������������� �� �������������#�.����������!������#�������#��������)����������

���� �����������������������������#�.����������"���������� �������*���������:6�#���������

�)������#��)����������;����#�9�����$������������������$��)��������������#�������)��

�����%%����� )�� <�������� ��� �=>�� 0������ ��������������� +� !������������ ���������

������������
���������	�$�����������%��������#��������������������)�����"�����������:

�������� ����������� �����$� #���)=� ���� #����� �*������� ���� ����� )�� ��*��#�����%��

������������$�������������������������+����������������� ��������������������)��

�����%%�����#�����������������*���!��%�������� �����������������#��(�(���������#���

������������#����������� ����+����
������������	�������?���������%��������#��������

����������� ���� ��!�����$� ��� ������� �$� #�9� ������� ��� ��!�����	� ��� #��������

����������� +� ���  ������� ���������� ��� ����������� ���������� ?�� ���#����� ��� 5�

����� �%����� ��������� �� ���� ���#�� ����  ����� "������ #������� ������ ����� ����

�����%%�%����� ��� 5�  ����(���� �������� ��������$� "������ #��������� ����� #����� ���

��*�����������%%�%�����������#������������������$����������������+����������!�����

���������������������� ����(�������������)��������#��!��������������%������##����

����� ������ �  ��� ���� ������ ��� #��#������ ���� #�������� ����������� #���������

���������������������������������������� �������������������

�� ������������������$� ��������������)�����4�����!�������4��"�#����������������������������������
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��#�������� #��� ��� ��!����	� ����� ��� #�������� ����������� ��� ���� �:������ ���������

�����)��������� t
x $�

6� +� #����(���� ��������� ���������������� ���� ���%����� ��� �������� #��� ���

#�������� -1 1(..., , , , ...)+t t tf x x x ;�

�� +�#����(�������!�����%%������������%����������������#����!����������������

�������������#������;����"�����������!����)����������������������%��������

�������� ���!������ #��� �!����� ������ t
x $� ��� ���)�� #��� �!��� ��##��� ���

��������� 1( , )+t tx x � �� ���@�  ��;� ��� ������ #��� �)�� ��� ����� �%����� ���� ������

����#�������� ���� ����� ��� �@� �)�� ��� �������� ���� ���#����� ���� ��� #�9� #�.�

��##����������������������#�����#��������������������!�����;�

7� ��� ��� ���%����� ��� �����������!������ )������������$� +� #����(���� ����$� ���

����#��$��)��
2

-1 , 1( ) , ( ) , ( , )µ σ γ −= = =
tt t t t t t tE x Var x Cov x x �����@� ��;�

8� ����� ������� ����$� +� #����(���� ��������� ���%����� ��� �������� 3���� ������ ��

�������4������%��������

��� #��#������ �##���� ���������� ������ ������������ ��� #�������� ����������� �����

���������� #��(�(�������)��� 0������ #��9�  �!������ �����%%���� "������ ����������

�����(����#���#����������������%����$�����#���������#��(����	�

6� '�� "������ �)�� ����� �� 3#�������� ���� ������ ���� ������%%�4� +� ���� �����

�����%%�%����� ������������ #����(���$� ��� #����(������ ��!���� ��� ����� �������%��

���� #�������� ����#�9� ������� ����� #��� ��������;� �������$� ���� �*+���������

����� "����� �������������)�� ������ ������ ����� ���� ����� �#������)�� ��� "������

�����%%�%����$� �� "����� �� ���� ��� ��#���������((���� ���)�� ����� �������

�������

�� '�� ���)�� ������#����(�������������� ����� �����%%�%�����#��� ����� �������%��

������ �������������)�� ���� #�������$� +� ����������� �)�� ����� ���� ���(���� ����
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���#�$����+��)�������������������#��(�(���������#�����!������ ������$�#���

�����������*��������������������� ������������� �%������

0����������"������������������������������%������������#��#�������)����#��������

����������� #������� � ���� �� ���� � ���	� ��	����	����-� ��� ��$������-�� '�� #����� ���

#�������� ����������� ���%�������� ��� ���� �����	� ��	����	����-� ������ 3���)�� ������

�������4��� ��	����	����-��� �����
������������ ������%���������� �����$�#��������� ���

������ ��� ������������� "�����"��� ������  ����(���� �������� �)�� ���#��!���� ���

#�������;� "������ ���� �� ���� ���������������� ������� ��������� �$� ��� #���

�������� �*�����%����$� ��������� ������ �)�� ��� ������� ������������� #����9� ����

<��������>� �#����� ���� #�������� ��� ��#��%%�� A$� ������ ��� ������������� ���� ��#��

-1( , ..., )+=k
t t t kW x x ��0������ +� ������������� ���� ����(���� �������� �� A� ����������$�

���������������%�����������������)�$����!�������$�#�9���#�������������'��#��9���9�

����������$�����������������(�%��������
k

tW �+��!�������"��������� 1+
k

tW $ 2+
k

tW ������@� ����

'����� ��� #�����%�� ��� ���%���������� ������ "������ "������ �� �����%��  ���� #���

"���������A�� ��������� �������$�"���������#��������+� ���%�������� ��� ������ ������ ���

�������������)��������(�%����������������������!�����������!����������������#�������

�������#���������%������������(���$��� ���$���!�������������������������#��%%���	�

��� )�� ���%���������� ��(���� ��� ������ ���  ����(���� �������� ��##���
2

( , )+=t t t kW x x $�

)����� �������� #����� �� �������� ��������� ���� ���#�7;� ��� "������ ��������� �)��

������������)�������� ������������������ ����������� ( )+⋅t t kE x x ����A�"�����"��$���

���)*�����������#������������3���)�����#���������#����������A4�������#���������

����$� ���� ������%����� ���� ��#����� �*�����;� ��� ����#��$� ��� #�������� #�9� �������

���%������������������������������#����������������;� ��� ����$����������%������

���#�� ���� �������� ���� ��#����� �)�� ���  ����� ���!������ �((����� ��� �������

������(�%������ ��� ��� ����$� ����� ��$� ��� ���� ������%����� ����������	� "������ ����$�

#��������������� ��#�������� #��� ��� �##����%����� #�����)�$� +� "������ ��� ���� ���

���������������������������������������� �������������������

7� �B�#���"���������� ���)��������%������������(���� ��������)�������������	����	����-������%	��	��	��



�


�

#��������+�$	
���	��$�������"������ ���������(�%��������!������������"�����"���

������������� ��� ��������� ���� #�������� +� ���� �������� ����� �������� '�� ���

#�������� +� !��������$� ���(������ �)�� +� ���%�������� ��� ������ ��(���� �"�� ���� ��

���(������������%��������������������������,�������#�� ��� ��������#��������!���������

�������##����%������������$�������#�������� ������#����� ������������!������������

��� ������%����� ��� ���%���������� ��(���$� �� "������ ��� #����� ��� ���%���������� ���%��

�!!���� �$�+��##�������"�������)�������������������


��� "������ ��!������ �*��!�������$� +� ���� �����%����� �)�� ������� ��� �������� ����

#�������	� ��� #�������� ���� ��!������ +� ��� #�������� �)�� )�� �������������)�� ���

#��������%�����@��������������������@��)�������!����������#�������$�#���"������

���!�$��������������������������������)=������������������������)��������(��� ���������

#�������� ��!�����$� ��� ���������$� ��� �������� ���� #�������� +� ��(���� ��� ���!)��

���%%����� �� ���*���������� ����*��#��%%�� ���� ���#����� �������� ��� �����

��!�������� �����)���*�������%���������������#����������

��������%����� ������ ���"��������#����������������������%�������� +���!������ �����

���##�����#������#��������������������(�� ��������'�����%��������$����#�9������

�)�����#��������+���!���������� ����������������������#��������������������������

����#�������;������ ��������#��������#������������������#���((�����%�����!�$�+�

#����(���� ����� ���� "����� ������ ��� �������"���%�� �)�� ��� #�������� +� ��� !����� ���

!��������� ��� ������ �)�� � ����� �������� ���� ����� ���� ���#�� #������� �������

������������ ����#�������� ��� ���#��������  �����#������� +� #��� �#����� �������%%����

������ ��!������ #��#������ ���� #�������� ��!������ 3�)�� ��  �����  ����� ������ �����

������%��������#����������!�����4	�

�

-
1

1
lim ( , ) 0
→+∞ =

∑ =
n

n

t t k
k

Cov x x
n ��

�

������������#�����#�����������!����)�$�������#��������+���!�����$�+�#����(����������

��� �������%����� ���������� ���� ���� � ��!������� ���� ���#�� #��� ���������� ���

�������������)���1�����������������3������	���$�����������
��514��)��������)�$����



�

���

���#��������+���!�����$��*����� �%���������������������%%�%������((�����%�����!��

+� �"�� ������$� ��� ����� �������%����$� ���*����� �%����� ��� ��� !���� ������� ���

�����%%�%������'�$��������#��$����#����������!������ tx �)�� �������������C$��������

�������������������������������#��+������������������������������C���"������#�9�

����������������������������������������������#�����������������������%%�%�����

����#����������%��)=�����������������������!�������$����#�9�������)���*�������%��+�

#����(���� ����� ��� ��� #�������� ����������� �)�� ��� ���� ���������� +� ���%�������� ���

��!������� D�� ������ #��� ������ �)�$� ��� ��������� ����������� #��� �����#����� �� �����

�*�#������ ��� ���� ���%���������$� �*�#������ ��� ��!�������� ���� +�  �������(���� ��� ���

���#���������������������%%�%���������#�������$����������)�������#��%%������������

5�����������#����������������������%������$�� ��������"����)���!����������������

#�������� tx � � ��� ���  ������ ������� ������� �� ��������� C� �� ����  �����%�� ������� ��

���������E����������$������������������������������� �����%����������������� ���������

#�������$��)����������#������

-[( - )( - )]γ µ µ=k t t kE x x �

�

���)�����������������	
����%	��	����� '�� ���������)�� ������%����������!����������

�)��"������"����������������� ���%�������� �;����������� ����� ��� ���%��������A$����

��%�����#���������
����������	
����%	��	��	$�������������������%��������A������#���

���� ( )γ γ= kk ��D������=� �)�� �*������ �����%������������������+��)�� ��� �����%����

�)�����������%�����+������#������� -γ γ=k k $�+� ���������������������������+�#����(����

������������	
��������	�����$��)���������������

�

γ γ
ρ γ σ= =k k

20
0

�

�

0������"�������$������ ���������$������������������������������#�������$��������

�##������*����������)����������#�������������������������������������������������



�

���

��##���������� ������ ���#������ ���������%%���� ��� #��������%��� �������$� ��� γ ≠1 0 $�

����������)���)��

≠tt tf x x f x-1( ) ( )�

�

����������!���%��

≠tt tE x x E x-1( ) ( ) ��

�


�������� ���������� �*�������� ���  ����(���� �������� ��� ���� ������������ ���

�����%�������������)���� tx -2 $� tx -3 �����������0����������������� ����(������������

#�������� ��������������������������	��%�
������#����:6$��� ������������������ tI -1 ��

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



�

���

-+0
������
���
(!������
����


��#����������������������������������!�������#����������������������!�������!��#�.�

�����%%���� ��� ����������� �� ���� ������ 0������ ������� )�� ��!����� ������)�� �� ��!�����

#�����)�$��)���������������������������!������
�������������%%��������������������)��

#�����#������������#�������$������ ��$������������������������������%��������(���$��)��

���������*�!!�����������#����������%������-�������#��������������������)�����������

���#����������$����(�����������%�$���"���%���������������#�������������#��������

�� ��� ����#������ ����� ��"���%�$� �� ��� ��� ����� #��� ��%%�� ��� �##������ �#���������

�*�
��	����� ���	���� 3������ ���)�� �
��	����� 6	�57	��4�  ����� !������������

������������������������F�����������������������������;�+�����#���������)������##�����

����"���%�����������$�������������������"���%�� tx ���������������"���%���)��)��

���������������������� ����!���������� ��������� tx $�������������������#�������������������

�������$�

=t tBx x -1 ��

�

�*�##����%�������#�������� ��������F� �������������������������������F�$���"���������

)�� =n

t t-nB x x ��
������ ��%��������#����F��G�6���*�#��������F�+�����#�����������

��#���������������������)�$����	��� ��������������$����)���

�

+ = + = +
tt tB ax b aBx b ax b-1( ) ��

�

��� ��������������� #�.� ������������� ��� "������ �#�������� +� �)�� ��� ���� #��#������

�##���� ���������� #���������$� ��� ������ ���������%�$� ��� ����#�������

��!�(�����������������������������������0�������  �������#���������"���������

������������#������������*�#��������F��

?�*������ ������%����� ��� ���� �����������$� +� "������ ��� #�������� ����������� +�

���������7/����������3<�������(�����>4��0��������#�����#��������+����#�.����#�����

�)�����#�9�����!�����	��������$�+����#���������)��#����������������������������



�

���

��� �������� ������;� ����� ����� ��������� ���� ���#�� 3"������ ��� #�������� +�

���%�������4$�����������������#���������������������������=��������������������

#�9������ ��������#�.� �������%%���� �������!��	����#��������H)���������$� ��� ����

����������:�����������)���������� εt $�#��������"�������������������)�	�

�

ε µ

ε ε σ

γ

=

= =

= >

2 2

( )

( ) ( )

0 0

t

t t

k

E

E Var

     per k

�

�

?�� H)���� ������ +� "�����$� ��� ������%�$� ��� #�������� ���#����� ��� ��� �������

��������� ���  ����(���� �������� �� ������ %���� ��  �����%�� ��������;� "������  ����(����

�������$� �������$� ����� ������ ������������ �*���� ���*������� �� ��!���$� "������ ����

��!��������)������������� ����#���������'��#��9� ���#��������7/����������$	
���	��$�

������ ��� ��� H)���� ������ ��� ���� ��� ������(�%����� ���!������ ��� ������ ��� ��##���

3εt $ ε +t k 4�����������������(� ������$���������@��?��#��������H)���������$�"�����$�+�

���#��������������������)���������(�����#��������%������"����������$����#����((��

#������� �)�� ���� �����!����� �� ��!!���!���� ��� ���#�� ��� ��� ���� ���� ����������

#��(�(����������)��#�������� ����������������#������#�����������������#�������)�$�

�� ���$� ���#��������%����� �*)������ ���#����� ���� ����������� ����������������������

��������������##�����������#�������������*�#����������������������H)�����������

�

�

�

�

�

�

�

�

�



�

���

-+,
�������
�
�����
��7���
8��9


?�� 
�������� ��$� �� #�������� 	� ����	� �� ���
 3��� ���� �##����� #��� ��%��$�

�%��	$�4$�+�������"���%����� ����(��������������������������������������

�

θ ε ε∑= ⋅ =
=

it t i t

q
y C B

i
- ( )

0
�

�

�� �� �3F4� +� ��� #��������� ��� ������� "� ����*�#�������� �������� �� εt � +� ��� H)����

�������
�����������$������%��#����������!���������$����#���� θ= =0(0) 1C ��'���3F4�+�

���#������������!�����"$������������)���)��yt �+����#����������!8"��1������������

������������$���� �����)��"����������������#������������ �	�

�

θ ε θ ε
 

   ∑= ⋅ = ⋅ =∑  
  == 

i t i i t it

qq
E y E E

ii
- -( ) 0

00
�

�

1� "������ ��� #����������� )�������� ��� �� #�����  ����$� ��� #����((�� #������� �)��

"����������������������������������������*�##����(���������#������������������%�����

�����$� ������)�$����!�����$�����+��������)��������������#����������� ��������������

����������� ���������-���� ��$� ��� ������%�����+�#�.��##��������)�������$� ������)��

#����!���#�������� xt �#������� µ=( )E xt t ���#�9����#������������������ ��#��������

µ= -y xt t t ���������������'�� yt � +� ���%�������� ����� �����%�$��������(����� ���������

yt ���#����!!���!������� ����������������#���� ���� xt ��
���"��������!���������

 �����%�$�����������)�������������#���������������������������������� �������������

���������������$�������

�

θ ε
    = = ⋅∑  =   

2

2

( ) ( ) -
0

q
Var y E y Et t i t i

i
�

�



�

���

�

' ���##��������"�������$�#������������#���������������������#����	�

�

θ ε θ ε θ θ ε ε−
 
 ⋅ = +∑ ∑ ∑ ∑
 = = = ≠ 

2

2 2
- - -

0 0 0
i t i i t i i j t i t j

q q q

i i i j i
�

�

,�����#��#����������H)���������$��)����� ��������������������������������������+�

�����$�������)=�

θ ε θ ε θ σ σ θ− −
 

= = = = ⋅ ∑ ∑ ∑ ∑
 = = = = 

2 2 2 2 2 2 2 2 2( ) ( )
0 0 0 0

i t i i t i i i

q q q q
E y E Et

i i i i
�

�

�)��)�� ���������������� θ
=
∑ < +∞
q

i
i

2

0
$���������#��� �������"�+���������������$��������

��!���������� ���� ������ �����!�� #�� ������� ��� �������� ������ ������ �����%�	�

�*������ �����%������������A�+���������

�

θ ε θ ε θ θ ε ε
     
     = =∑ ∑ ∑ ∑+ + +     = = = =     

( ) ( )- - - -
0 0 0 0

q q q q
E y y E Et t k i t i j t j k j t i t j ki

i j i j
�

�

'���������� ������� ����  ����� ��� #��#������ ���� H)���� �����$� ��� )�� �)��

ε ε σ=+
2( )- -E t i t j k � ��� 9� :� �;5� �� �� ��� ������ !��� ������ ����$� ������)=� �*��#���������

#���������������������	�

∑
2

q

ik t t+k i+k
i=0

γ = E(y y ) = σ θ θ �

�

�� ��������������)��θ =0i #�����<�8��'��������)�	�

• �*��#��������� #��� ���  �����%�� +� ��� ����� #����������� ������ ��������

#���������$�#�������A�G��;�
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• #���A�I�"$���������� �����%��������������

?�� #�������� ��3"4$� "�����$� +� ��� #�������� ��������� ����� ���(���%����� ���

�� ����������������������������H)�����������)��#���������������������������)�����

#��������%�� ������#�.�#�����������"������#�.������+� ��� ������������0����*�������

#�9� ���)�� ������� ��������;� ��� "������ ����$� ����� ��$� �*�������%�� ���� ��������

�������� 3�� "������ ��� ���%���������4� +� !��������� ����� ���� ����� ��� ���� ���

 ������� θ
=
∑ < +∞
q

i
i

2

0
���

-�����#���� ������*�����#�.���������$�#������������#����������364��������#���

�� ����������� ��� !������	� �*���������� ��� yt � #��� �� �����  ������ ��� "� +�

��##������������������!����6�6��5�����������$�"������θ =0 ����#��������+����H)����

��������������� ���$����������������θ �����������������)�����#��������%���� ��!����

#�.�  ���(���� 3��� ������ ���#������ ��� <������>4� �� ��� ����  �����%�� 3���������

�##��������� �����������*����������!�����%%����������������4����������

�

J�!����6�6	�#����������364�:�θ =0 �3H)���������4�

�
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'��� �������������������#�����������������������#������$�������������((��������

������ #�.� � �������� ������������� #�.� �� ������ ��� #����������364$� ��� #�������

��������������%��������������������������#��$��*�����������%���������������6�������

#����������364�+���������������������

�

θρ
θ

=
+1 21

��

0����������%�����+���##����������!��������������������!����6��;����#�9���������)��

��� ���������������)����!!���!�� ρ1 �+���K$����������#�����%�����θ =1 ��?�����������

�����!�$�������!������(����$� ����#������#�����������������������$���##�����������

���������%����� ������ ��� #�������%�� �)�� ������ ��� �����������%����� ��� �������

��!!��������6�������������
����������������#��(������������%����	���� ���������

��##���������� ���� ������ ������ ���#������ ����� �����%%�%����� ��� ��� #��������

��364$� ����� #�������� �����%%���� ��� ���������)�� �������(���� ������ ������ #���

���� ���� ������ ������ ���� #��������� ���� #�������� 3�  ���$� ��� #��������� θ 4L�

5�����������$� "������ #������������ ����((�� �������(���� ����� ���� ����� ��� ���� ���

������� ������ ���#������ � ����� ��� �������!������ 3��� !������� ������ ������ ������

���%����� ��� �����������%����4� ����  ������ ��������� #��� �*�����������%����� ���

#����������������������(����#�������������'�����@������$����#����((�����)��#������	�

��� ��� #�������� �)�� )�� !�������� �� ����� +� ������� ������� ��� ��364$� ������� +�

���%�������� ��� ��!�����$� #��� ���� �*�����������%����� ���#�������� ��� ��!�� ���

#��(�(��������"����������������

����������	�

θ
ρ θ→

+ 21
ˆ

1

p
�

�

#���)=� "������ +� ���� ���%����� ��������� ��� θ $� #����� �� �������� �� ��� ���� ����

���������� ������������ ��� θ � ����������� �����������$� ������ ��� ���� "����  ������

�)������������*�"��%�����
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J�!����6��	���364:������������%��������#������������������%��������θ �

�

�

θρ
θ

=
+1 2

ˆ
ˆ

ˆ1
�

����� ����������������)���������%�����+	�

�

( )θ ρ
ρ

= 2

1
1

1ˆ 1- 1-4 ˆ
2 ˆ ��

�

�������������� ����������������((�������$�������+��������#����������%��������#�����

����*����� ����� M:6$6N� #���)=� #��#���� ��� "������ �#�%��� ����� ����� ������ ��  ������

#����(���$������(��� ���(��������!�������#������������

/��$�������##������)�� ����������������������#������@��B� �����)�����#��������

��� ��� ������� ��#������� )�� ������ �����%�� #�.� ����������$� �� "������ ��� #�9�

����!������ �)�� ��� ������� ������!��� #����((�� ������� #�������(���$� ������� ���

������$��������%���������#������������������������#����������3F4��((�����%��������

J����������#�����#�.� ��� ��$� ��� ���#����((���)���������� �����##���%����� ����#���
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"�����"��� ���������� ��� ������ �����%��� ��� ���#����� +� ���� ������	� ���+���$� �)��

�����%��������� ����	� "�����"��� #�������� ����������$� #���)=� ���%�������$�

#�������� ���� ���������� ��� ������ �����%�� �)�� +� ��#����(���� ���� ���� #�������� ��

��������(������������������������0����������������+������#�����%��������	���������

����$� ��� ������%�$� �)�� "�����"��� ���� ��� ������ < ���>� ��� ��� #�������� �����������

���%�������$�#�����������#�����##�������������������#�����������3�������������

������� ��������4�� B� #��� "������ �)�$� ���������� �� #�������� ��$� ��� ���� ��� ������

������������������#�����������%�������#����(���$�#�����������#���"��������!���������

������������������)������������������ �����%���
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?�*��������#������������������#��������+����������#��������������!����� ���0������

#������������������$������������������$�������##�������%�����#�.�������� ���������

������#��������������"����������#����������$�#���)=��*�����+��)������� �����������������

���#������ ��� ���#�� �� �������� ���%����� ������������ #��#���  ������ #������$�#�.����

H)����������������������� ���##����������������)��������������������!����������

����������������� ��!��������� ������� ��� ����(������#������ ������� ��  ������#�������

������ ����(������#���������

�

ϕ ϕ ε= + + +1 1 ... p p ty y y
t �

�

5��� +� �%����� ������� �)�$� ��� "������ ��������$� ��� H)���� ������ #�9� �������

�����#��������������������!�����������(���������������������!��������$����+������

�����������%������1����������������������%������;����"����������$���� ����(������������

�)�����������������*����������������%������������������#�������������#����������

1��� ��#���������������� �������������������#�������� ���#�����������#���)=$� ������

#�������� ��� +� ��� #�������� ��������� ����*�##����%����� ��� ��� #���������

����*�#��������F�������H)���������$����#�����������+������������������#��������

�*�##����%��������"�����������#�������������*�#��������F�#����������H)�����������

������(����

ε=( ) t tA B y �

�

�� ���3F4�+�����������#������������(����!�����
������3�4G6��


��� ���������%%���� ���� "������ ��#�� ��� #�������$� ���%����� ���� ������������ ��� �����

#�.����#����	�"�������������
G6�����#��������#�9����������������

�

( )1 ϕϕ → − =Bt t-1 t t t+y = y ε y ε �

�



�

���

���������� ��� ��� #�������� ��364� #������� ������� ���� ���� ��� �� ���������	� ����

#��������� ������� �� +� "������ ��� ��##����� ��� ���%���������� ���� #�������$� �� #���

���� ���� ��� �����!���%�� ��� "������ �#������� '�##������� "������ �)�� ��� #��������

�((������������������O��0�������#��������#������)�	�

�

( ) ϕµ ϕ ε µ+Et t-1 t) ) == E(y = y E( �

�

�*��#���������#����������#�9��������  ���� ��� ���� ����	� ��O� G��$� ���� "���� ����� +�

 ����#���"��������� ���������P$��##�������������P�G�6$�����������*��#���������+� ����

#��� "���������  ������ ��� O$� �� ��� ������ ���� #�������� +� ��������������� ��� "������

����������������������)�����#��������#�������������	�����
���	��	$�#���)=���� ������

��� %� #��� ���� �3%4G�� +� �##����� 6�� ?�� ������ ����� ��� ���� ���� 131�4� +� "������ ���

��##���������� 1�� ����� ��� #�������� �� ������ ��(����� 
��� �����$� �����%%����� ��

���������� ��#������� #��������������� ������ ����#���%����� ���� #��������� '�� ���

���������� ��� ����� ��� ���� QPQ� R� 6� 3�����%����� �)�� �)���������� �������� ��� �������

��������4$����� ����)��

�

( )ϕ ϕ ϕ-1-1 2 2A(B) = 1- B =1+ B + B +...= C(B) �

�

��"�����������##�������%�����������1��������

�

ϕ ϕ ε ε⋅ ⋅2 2
t t ty = (1+ B + B +...) = C(B) �

�

���+� ��� #�������� ��� ���� S�GP�$� �)�� )�� ������ %����� 
��� "������ ��!������ ��

���������������$�#���������������#����;���##��������)�����H)�����������((���

 �����%��#������E���'�������)���������D���� �����%�����1�$�����##��������)�������

�����������������������������#�$�� ������)��

�
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( )ϕ ϕ ϕ 
  

22 2 2
t t-1 t t-1 tV = E(y ) = E y + ε = V +σ + 2 E(y ε ) �

�

�*����������������������������+��$�"���������������������(���%����� �����������

������ �����%��������H)����������3������������#���������%����4���

'�������������)��

21 ϕ−

2σ
V =

�

�

��� #����� ���!�$� �*��#��������� ��� ����� �)�� ����� ��� QPQ� R� 6� )�� ������ #������� ���

 �����%�� ���(���� ���� ���#�$� ����������� ���� ����((�� #�.�  ������ �*�������

�!��!����%��� 0������ �����%����� �������� ������ ����!����� ���� #�������� ��364�

���%����������������"�������� ���������������$�������)��"��������������������������

��#���� �����+�����QPQ�I�6����������������������%����������������������������D$�

�)��+���� �����%�����������%����������1�$�����E�$��)��+���� �����%����� :61 ��
ℑ ��D�+�

���#�����!!��������E�$��������������%��+���������!!�����"������#�.�P�+� ��������

6	� ������#�.�#�����������+� ��� #�������$� ������#�.� ��� ���� �����%�� �����%����������

#��#����#����������������������������� �����%�����������%��������D������������)��

��� ��������%�� ����  ������ ��� 1�2�� ������� �*�������%%�� ����  ������ ��� 1�� "������ #�.�

#����������� +� ��� ������� �����!���� ���  ���������� ��� ������ �����%�	�

�*������ �����%��������������+�D$��)�������������!��;��*������ �����%������������

6�+���������

�

γ ϕ ϕγk t t-k t-1 t t-k k-1 = E(y y ) = E[( y  + ε )y ] = �

�

�������������)��
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�

ρ ϕk
k = �

�

���)�����"�����������+�#����(�����������*�����#����%������������ ���������������	�

��������������%����$� �)���������� �������������������������#�������$� ����� ������

#�.�!������3��� ��������������4$�������#�.�!������3���#������ ��������������4�+�P$�

������������ �*�����#����%����� ��� P� ����� #��������� ��� #��������%��� ��� #�.$�

��((���� ��� ������� #��� A� �)��  �� ���*��������� #����� �� �������� �!����� �� %���$� =A� +�

���#����� �����������������������������)�����#����������3#4	�

6� )������������������$������������������%�������������������������������A����

#��!���������!���������;�

�� ������������<����������>��� ���������$�)�� �������������O>�364�$��� ���364�+�

�##��������#����������3%4� �����������%G6���%��)=����%GF�����������������

�*������ ��#����� �)��  ���� ��� #���� ��� ������������� ���� ����� ��� ���� �*������� ����

#��������������!����� ��#�������!!��������6�+��)��#����������3#4�#�������� ����

����������������������"����������$����#�������������������������������������������

�*��#��%%���������������%����� ������������������� �������������,� ��((���������

� ������� �)�� �� #�������� ��� "������ ��#�� ����� �� ���������� ��������� �� ����������
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��������������#����������������#������������#������������)����#����������������

�����#������������?��#������������!
?�8"�+����������������������

�

t tA(B)y  = C(B)ε �

�

�� ��#�+��*�����������#����������3F4���"�+��*�����������#����������3F4��1�����(��

������������ �������� ��#���������������������"������ ����� #����������� 3"G���� #G��

���#���� ������4�� '�� ��� #��������� �3F4� )�� ������ ��� ���� ������� ��!!����� ��� 6� ���

������$��������1��#�9����)�����������##���������������������$��  ���	�

�

= ⋅-1
t t ty = A(B) C(B)ε D(B) ε �

�

�� ��,3F4�+����#�������������������������������#�I����-���������%���������3F4�+�

�������������������������������)=����#���������������%�������������������������$����

��� #��������� �3F4� +� �� ����(���$� ������� 1�� �������� ���� ��##�������%�����

������!����� ��3����������������������"�I��4�

�

= ⋅-1
t t tA(B)y C(B) A(B) y = ε �

�

���"����������$������������)���)�����#��������+��� ����(���������������������)������

�������� ��� ��� #�������� ����3#$"4� #������� ������� ���� ���� ��� �����

���������������� ���#����������� ���� ��##�������%����� �����������(������*������

����������������)�����#������!���������%�����+��)������!!���!�������*����������$�

�������������)���������������#��������+��������O>�364���

�)�� ������ )�� ��������� #�������� ����L� ��� ������ �������$� �������$�  ����� �)�� ���

�������������##�������%��������2�������������)��"�����"���#�����������%��������
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1 1
L(ψ) = f(x; ψ) = exp - (x-k)' (x-k)

2π 2
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#�������� !������������ #��� �� 7�  ������ #��#����� #��� ��� #���������
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�#��� ������(�� ��� #��������� ��� �����$� �*���� ������ ���
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J��%�����������#����������������������������������

ARsim<-function(oldz=0,olda=0,phi,sdinnov,num) 

{ 

  z<-rep(0,num) 

  z[1]<-oldz 

  for(i in 2:(num)) 

  { 

    newa<-rnorm(n=1,mean=0,sd=sdinnov) 

    z[i]<-phi*z[i-1]+newa 

    olda<-newa 

  } 

  return(z) 

} 

$��� �	�

: �����+���� ���������%�������������"���%�����������

: ���	�+���� ���������%���������*���� �%�����

: 
/��+����#���������������!����� ��

: ������%�+������ ��%������������������������ �%�����
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: �
��+����������������������������

J��%�����������#���������������������������������#����������

ARres<-function(y=dati[1:(length(dati)-1)],ph,mu,sigma,e0=0) 

{ 

  res<-rep(0,length(y)) 

  res[1]<-e0 

  for(i in 2:length(y)) 

  { 

    prev<-ph*(y[i-1]-mu) 

    res[i]<-((y[i]-mu)-prev)/sigma 

  } 

  res<-res[2:length(y)] 

  return(res) 

} 

    olda<-newa 

  } 

  return(z) 

} 

$��� �	�

: 1�+�����������������������������%�����������

: 
/�+����#������������������!!������

: �
�+�������������������������������Y�

: ��$�	�+������ ��%������������������������ �%��������������������������

: �&�+���� ���������%������)����� ��#�����������������������
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J��%�����#���������������� ��������������)�

h<-xewma.crit(lambda,IC) 

$��� �	�

: �	� �	� +� ��� #��������� �)�� ����!��� "������ #���� �����(����� ���*�������

����� �%�����

: �����##�������������������������� �%������������������

�

�

���������������%�����

for(i in 1:nsim) 

{ 

  x<-ARsim(0,0,phi,1,ncampione) 

  old.seed<-.Random.seed 

  xin<-x[1:(IC)] 

  xout<-shift+x[(IC+1):ncampione] 

  y<-c(xin,xout) 

  m<-arima(xin[1:n],c(1,0,0),method="ML") 

   

  ph[i]<-m$coef[1] 

  sigma[i]<-sqrt(m$sigma) 

  mu[i]<-m$coef[2] 

  res<-ARres(y,ph[i],mu[i],sigma[i],0) 

  for(t in 2:ncampione) 

  { 

    w[i,t]<-((lambda*res[t-1])+((1-lambda)*w[t-1]))

  } 



�
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  B<-BootBC(xin[1:n],1,0,500,type="const",correct="kilian") 

  .Random.seed<-old.seed 

  phB[i]<-B$coef[1] 

  muB[i]<-B$coef[2]/(1-phi) 

  sigmaB[i]<-sum(B$resid^2)/(n-p-1) 

  resB<-ARres(y,phB[i],muB[i],sigmaB[i],0) 

  for(s in 2:ncampione) 

  { 

    wB[i,s]<-((lambda*resB[s-1])+((1-lambda)*wB[s-1])) 

  } 

} 

$��� �	�

: �/������##�����������������������������

: 7���76������������������)��(��������������������!������#���� ����������������

"�������������������������������������������12����

: 6�+�����������������������3 6���φɶ 4�
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')�������������%%��������������������������

shift<-shift*sqrt(1/(1-(mean(ph))^2)) 

shift 

shiftB<-shift*sqrt(1/(1-(mean(phB))^2)) 

shiftB 
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# Valori UCL-LCL 

L<-(mean(sigma))*h*sqrt(lambda/(2-lambda)) 

L 

L_B<-(mean(sigmaB))*h*sqrt(lambda/(2-lambda)) 

L_B 

������#�����������!!�����!������$�J�5'����J����

for(j in 1:nsim) 

{ 

  for(k in 1:ncampione) 

  { 

    if(w[j,k]>L) 

    { 

      stat[j,k]<-1  

    } 

  } 

  arl[j]<-min(which(stat[j,c((IC+1):ncampione)]==1)) 

  if(arl[j]==Inf) 

  { 

    arl[j]=(ncampione-IC)+1 

  } 

  fcns[j]<-length(which(stat[j,c((IC+1):ncampione)]==0)) 

  fall[j]<-length(which(stat[j,c(1:IC)]==1)) 

   

  for(z in 1:ncampione) 

  { 

    if(wB[j,z]>L_B) 

    { 
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      statB[j,z]<-1 

    } 

  } 

  arlB[j]<-min(which(statB[j,c((IC+1):ncampione)]==1)) 

  if(arlB[j]==Inf) 

  { 

    arlB[j]=(ncampione-IC)+1 

  } 

  fcnsB[j]<-length(which(statB[j,c((IC+1):ncampione)]==0)) 

  fallB[j]<-length(which(statB[j,c(1:IC)]==1)) 

} 

�
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���������������� ����������!!����������##�����!�������

mean(x) 

mean(mu) 

mean(muB) 

mean(sigma) 

mean(sigmaB) 

mean(ph) 

mean(phB) 

# Controllo sui residui  

plot(res,type="l",ylim=c(-9,9)) 

lines(resB,type="l",col=2) 

abline(v=IC,col=3) 
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mean(res) 

mean(resB) 

mean(res[1:IC]) 

mean(resB[1:IC]) 

mean(res[IC:(ncampione-1)]) 

mean(resB[IC:(ncampione-1)]) 

# Primo valore che esce dai limiti 

mean(arl) 

mean(arlB) 

boxplot(arl,arlB,names=c("rl_ML","rl_BOOT")) 

# Fuori controllo non segnalati 

mean(fcns) 

mean(fcnsB) 

boxplot(fcns,fcnsB,names=c("fcns","fcnsB")) 

# Falsi allarmi 

mean(fall) 

mean(fallB) 

boxplot(fall,fallB,names=c("fall","fallB")) 

# Boxplot 

boxplot(as.data.frame(w)) 

abline(h=L,col=2) 

abline(h=-L,col=2) 

abline(v=IC,col=3) 

abline(v=n,col=4) 

# "Spaghetti" plot 
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plot(ts(w[1,]),ylim=c(min(w),max(w))) 

abline(h=L,col=2) 

abline(h=-L,col=2) 

abline(v=IC,col=1,lty=3) 

abline(v=n,col=4) 

for(z in 2:nsim) 

{ 

  lines(ts(w[z,])) 

} 

# Boxplot 2 

boxplot(as.data.frame(wB)) 

abline(h=L,col=2) 

abline(h=-L,col=2) 

abline(v=IC,col=3) 

abline(v=n,col=4) 

# "Spaghetti" plot 2 

plot(ts(wB[1,]),ylim=c(min(wB),max(wB))) 

abline(h=L,col=2) 

abline(h=-L,col=2) 

abline(v=IC,col=3) 

abline(v=n,col=4) 

for(z in 2:nsim) 

{ 

  lines(ts(wB[z,])) 

} 

mean(ph) 
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hist(ph) 

var2_ph<-sum((ph-mean(ph))^2)/(nsim-1) 

var2_ph 

mean(phB) 

hist(phB) 

var2_phB<-sum((phB-mean(phB))^2)/(nsim-1) 

var2_phB 

plot(ph,type="l",ylim=c(-1,1)) 

lines(phB,type="l",col=2) 

abline(h=min(ph)) 

abline(h=max(ph)) 

abline(h=min(phB),col=2) 

abline(h=max(phB),col=2) 
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��������������d����������J���������!$�^$����X7��;�

− ����������
��$�3���#��������������4������������������������#�����;�

− ����!����Y��,��!�������3���^4$�������������������������"�������$���
��H:e���;��

− 
�������,��36���4$��������%��������*��������������������������)��$�5���'�;��

− ��Y����f�J������2����3���64�$�1��������������������!����� ��������������H��)���

���������������d����������F��������f�1��������'���������$�6�$�8��:8�7;�

− ')����� 
�� f� '����� ����� 36���4� $� -)�� (���� ��� ������!����� �� ������������

������������d�����������)�����������'����������������������$��7$��8�:�8�;�

− '�������'��e��36���4� $�12������������)�����H��)�����: ��Y��!��������� �������

��������������������#����$�d����������0�����Y�-��)����!Y$�76$�]K:�^;�
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− '����� ����� f� ')����� 
�� 36���4� $� �� ��T��� #����� �)��������%������ ���� (���� ���
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